
A4.1

1

WALL SECTION - 

CONSTRUCTION TYPE:  1

SCALE: 1" = 1'-0"

SALES AREA

NOTE: ATTACH GONDOLA FIXTURE

UNITS  PER MANUFACTURER'S

INSTRUCTIONS.

PAINT YELLOW.

METAL STUD AND GWB PARTITION - WALL

CONSTRUCTION TYPE: 1

1
2

'
-
0

"

PRE-SALES

E
Q

B
R

A
C

E
 
S

P
A

C
I
N

G

 
(
S

E
E

 
T

A
B

L
E

)

E
Q

B
R

A
C

E
 
S

P
A

C
I
N

G

 
(
S

E
E

 
T

A
B

L
E

)

3 5/8" (20 GAGE) CONT BRACING STUD

W/ (2) #8 SMS @ EACH STUD (SEE

TABLE FOR REQUIRED LOCATIONS)

3 5/8" X 20 GAGE CONT BRACING STUD

W/ (2) #8 SMS @ EA STUD (SEE TABLE

FOR REQUIRED BRACING STUD

LOCATIONS)

(2) 20 GA METAL STUD BLOCKS PER

INDIVIDUAL BRACING STUD (ONE @ EA END)

W/ (3) #8 SMS FROM STUD & (3) #8 SMS FROM

GYPBOARD (6 TOTAL PER BLOCK) - LOCATE

BLOCKS AT EACH SIDE OF SPLICE.

6" METAL STUDS @ 16" OC (SEE TABLE FOR

MORE INFORMATION)

2" STUD WEB

LAP,TYP

(3) #12 SMS, TYP

INDIVIDUAL 3 5/8" X 20 GAGE BRACING STUD

PROVIDE (20 GAGE) 2 1/2" LEG STANDARD

"SLP-TRK" (SLOTTED) TOP TRACK FOR 1"

DEFLECTION.

EXIST CORRIGATED STEEL ROOF

DECK CONSTRUCTION

PROVIDE (2) #12 x 3/4" SMS @ EA

DOWN FLUTE

PROVIDE #8 WAFERHEAD FRAMING

SCREWS EA SIDE

STUD

SPAN

BRACE

SPACING

BRACING

LOCATION

SECTION

NO BRACING

REQUIRED

STUD

GAGE

STUDS MUST MEET MINUMIM SSMA SPECIFICATIONS FOR

600S125 Fy=33 KSI STUDS OF THE SPECIFIED GAGE.

18' 20 (600S125-33) B

C5' OC (MAX)

20 (600S125-33)

22'

24'-6"

20 (600S125-33)

4'-2"  OC (MAX) D

E3'-7"  OC (MAX)

18 (600S125-43)

30'-0"

A

A

1
2

'
-
0

"

1
2

'
-
0

"
E

Q
E

Q
E

Q

1
2

'
-
0

"
E

Q
E

Q

E
Q

1
2

'
-
0

"
E

Q
E

Q
E

Q
E

Q

S
T

U
D

 
S

P
A

N
 
(
0

'
 
t
o

 
1

8
'
-
0

"
 
M

A
X

)

S
T

U
D

 
S

P
A

N
 
(
1

8
'
-
1

"
 
t
o

 
2

2
'
-
0

"
 
M

A
X

)

S
T

U
D

 
S

P
A

N
 
(
2

2
'
-
1

"
 
t
o

 
2

4
'
-
6

"
 
M

A
X

)

S
T

U
D

 
S

P
A

N
 
(
2

4
'
-
7

"
 
t
o

 
3

0
'
-
0

"
 
M

A
X

)

B C D E

(2) 20 GA METAL STUD BLOCKS PER

INDIVIDUAL BRACING STUD (ONE @ EA END)

W/ (3) #8 SMS FROM STUD & (3) #8 SMS FROM

GYPBOARD (6 TOTAL PER BLOCK) - LOCATE

BLOCKS AT EACH SIDE OF SPLICE.

EXISTING SLAB

(20 GA) SILL TRACK W/ "HILTI" SHOT

PIN "DN" SERIES #X-DNI EMDED 1 1/4"

X .145" DIA @ 16" OC (OR EQUAL)

TENANT'S FLOOR FINISH

DETAIL

SCALE: 1" = 1'-0"

BRACING LOCATION SECTION

SCALE: NTS

A4.1

2

WALL SECTION - 

CONSTRUCTION TYPE:  2

SCALE: 1" = 1'-0"

HILTI X-U (.157" Ø) SHOT PINS W/ 1

1/4" EMBED INTO THE SLAB @ 4' OC & 4" OFF

EACH END OF THE INDIVIDUAL PIECE OF

TRACK, TYP.

METAL STUD AND GWB PARTITION - WALL

CONSTRUCTION TYPE: 2/3

TENANT'S FLOOR FINISH

EXISTING SLAB

PROVIDE (20 GAGE) 2 1/2" LEG STANDARD

"SLP-TRK" (SLOTTED) TOP TRACK FOR 1"

DEFLECTION.

CORRUGATED STEEL ROOF DECK

CONSTRUCTION

PROVIDE (2) #12 x 3/4" SMS @ EA

DOWN FLUTE

PROVIDE #8 WAFERHEAD FRAMING

SCREWS EA SIDE

8'-0"

ATTACHED WITH (2)-#12

TEK SCREWS AT EACH STUD.

3 5/8" (20 GAGE ) METAL STUD JOIST WITH

ONE LAYER 5/8" GWB WITH AND A

DEFLECTION OF L/360 AND A MAX. LOAD OF 5

PSF.

AT TOILET LOCATION

AT HALLWAY LOCATION

8'-0"

2'X4' ACCOUSTICAL CEILING TILES

AND GRID INSTALL PER MANUF SPECS.

REFER TO REFLECTED CEILING PLAN

FOR GRID LAYOUT, SHEET A2

TOP OF JOIST BEYOND (WHERE OCCURS)

SALES

PRE-SALES

PAINT YELLOW

3 5/8" (20 GAGE) CONT BRACING STUD W/ (2) #8

SMS @ EACH STUD (SEE TABLE FOR

REQUIRED LOCATIONS)

(2) 20 GA METAL STUD BLOCKS PER

INDIVIDUAL BRACING STUD (ONE @ EA END)

W/ (3) #8 SMS FROM STUD & (3) #8 SMS FROM

GYPBOARD (6 TOTAL PER BLOCK) - LOCATE

BLOCKS AT EACH SIDE OF SPLICE.

A4.1

3

SCALE: 1"=1'-0"

WALL SECTION TYPE 8

TENANT'S FLOOR FINISH

PROVIDE GRILLES FOR VENTILATION

AS REQUIRED - AMERICAN GRILLE

AG10 OR EQUAL. 4'-0" OC, MIN OF 3.

PROVIDE ONE LAYER 5/8"

GWB ON 3 5/8" (20 GAGE) MTL

STUDS @ 12" OC.

EXISTING ALUM

STOREFRONT SYSTEM

OFFICE

4" VINYL BASE, REFER TO FINISH

SCHEDULE, SHEET A4

CONTACT TENANT'S

CONSTRUCTION PM FOR

GRAPHICS INFORMATION PRIOR

TO INSTALLING INFILL WALL.

(20 GA) SILL TRACK W/ "HILTI" SHOT PIN "DN"

SERIES #X-DNI EMDED 1 1/4" X .145" DIA @

16" OC (OR EQUAL)

PROVIDE OPAQUE WINDOW FILM ON

INTERIOR  FACE OF GLASS PRIOR TO

INSTALLING  INFILL WALL.

(20 GA) SILL TRACK W/ "HILTI" SHOT PIN "DN"

SERIES #X-DNI EMDED 1 1/4" X .145" DIA @

16" OC (OR EQUAL)

A4.1

D
E

T
A

I
L

S
,
 
E

L
E

V
A

T
I
O

N
S

 
A

N
D

 
S

C
H

E
D

U
L

E
S

P
D

G

p
r
o

j
e

c
t

d
r
a

w
i
n

g

p
r
o

j
e

c
t

d
a

t
e

d
e

s
i
g

n
e

d

d
r
a

w
n

c
h

e
c
k
e

d

m
a

r
k

r
e

v
i
s
i
o

n
s

d
a

t
e

b
y

d
e

s
c
r
i
p

t
i
o

n

1
6
6
 
S

.
 
L
I
B

E
R

T
Y

 
D

R
I
V

E
 
-
 
D

E
A

L
 
#
1
3
2
1
6
 
/
 
S

T
O

R
E

 
#
2
5
7
3

S
T

O
N

Y
 
P

O
I
N

T
,
 
N

Y
 
1

0
9

8
0

0
6

/
1

5
/
2

0
2

2

2
0

2
2

.
2

7
 
/
 
D

1
3

2
1

6

R
L

D

J
W

D

sheet

A
L

L
 
P

L
A

N
S

,
 
S

P
E

C
I
F

I
C

A
T

I
O

N
S

 
A

N
D

 
R

E
P

O
R

T
S

 
T

O
 
W

H
I
C

H
 
T

H
E

 
S

E
A

L
 
O

F
 
A

N
 
A

R
C

H
I
T

E
C

T
 
H

A
S

 
B

E
E

N

A
P

P
L

I
E

D
,
 
T

H
E

R
E

 
S

H
A

L
L

 
A

L
S

O
 
B

E
 
A

P
P

L
I
E

D
 
A

 
S

T
A

M
P

 
W

I
T

H
 
A

P
P

R
O

P
R

I
A

T
E

 
W

O
R

D
I
N

G
 
W

A
R

N
I
N

G

T
H

A
T

 
I
T

 
I
S

 
A

 
V

I
O

L
A

T
I
O

N
 
O

F
 
T

H
E

 
L

A
W

 
F

O
R

 
A

N
Y

 
P

E
R

S
O

N
,
 
U

N
L

E
S

S
 
A

C
T

I
N

G
 
U

N
D

E
R

 
T

H
E

 
D

I
R

E
C

T
I
O

N

O
F

 
A

 
L

I
C

E
N

S
E

D
 
A

R
C

H
I
T

E
C

T
,
 
T

O
 
A

L
T

E
R

 
A

N
 
I
T

E
M

 
I
N

 
A

N
Y

 
W

A
Y

.
 
I
F

 
A

N
 
I
T

E
M

 
B

E
A

R
I
N

G
 
T

H
E

 
S

E
A

L
 
O

F

A
N

 
A

R
C

H
I
T

E
C

T
 
I
S

 
A

L
T

E
R

E
D

,
 
T

H
E

 
A

L
T

E
R

I
N

G
 
A

R
C

H
I
T

E
C

T
 
S

H
A

L
L

 
A

F
F

I
X

 
T

O
 
H

I
S

 
I
T

E
M

 
T

H
E

 
S

E
A

L
 
A

N
D

T
H

E
 
N

O
T

A
T

I
O

N
 
"
A

L
T

E
R

E
D

 
B

Y
"
 
F

O
L

L
O

W
E

D
 
B

Y
 
H

I
S

 
S

I
G

N
A

T
U

R
E

 
A

N
D

 
T

H
E

 
D

A
T

E
 
O

F
 
S

U
C

H

A
L

T
E

R
A

T
I
O

N
,
 
A

N
D

 
A

 
S

P
E

C
I
F

I
C

 
D

E
S

C
R

I
P

T
I
O

N
 
O

F
 
T

H
E

 
A

L
T

E
R

A
T

I
O

N
.

AutoCAD SHX Text
DOLLAR TREE




